4 pller -coustrr  ented o wﬁn} Coup af hujld: lom.
(o F=5’m), unpo wered . Hm.r@m‘: magt b Meove
at He bofost n ode b0 @ makte it b e by
(b) kep Passoges o Har seats T (N Pickion).

@) {‘::: »:(u\b!'o Mﬁfaﬁ' h=2r
Lmvﬂ mgh 2mgr
( .for v =& at l—:()‘)

L e (y>1794/s)

= vl 80 passnagrs fall out |
2 oy R Bl 0T
L HE of by oo = oMy 2m5r ?fM5P/;.. e
= M 2N G )
c) Effeckive wtight ok Loltom of logp !




G tmbion.

On swiea n-FEm‘H’L {..ma{smmb m'ﬂr.-.:mdut_

cmhro{-em&
At ecrte miabes So ﬁ;H-. j«f Fu s less ot ..V.m.fnr«

}tf_:ﬂa _
é—ip—— By FemV _m g -

L

~

L
» Fu > mg -
1 , ]
=7 Eﬂs‘j '-U‘BS 0 Iﬂ}? Wﬁjtd-

H.Oi.r.-t..rﬂ" Juv]ﬁﬂ ond. o’c‘hﬂfﬁ eclized- thaot HﬂL BI‘EJ.I‘,FQM

deceases Uil dustoace ,Pm o €orth
,Frf Moon s ﬂrbut)

(_ [ﬂc}r’ﬁmhﬂ Fﬁmf -

rm;,= M 1
L._L%CLWEHJIL r:l.

o¢ produck of mMasses
* k)

G = Univeral Gratatioal (astent
i é{:," f:)ﬂh S na IIIH‘E.}_, : (Cﬁu{ﬂdiSL'L:j




_ 8%
o
eq. Pt the moon r=34xl0’m  (ExSS)

%(w= G‘HEMH_ = 0eod] My
i - 2x10°°N

"

= Muv® b ke men i orbit
-

On Sufew of He cath, = Ke Jom cenber

So e.q Kia gas Stm{' Satem has HS >>Mc
but e GE?’—E" G Bl



g
_@rmag nside Ha eath - st gresber o (ess

¥

Fist %mu aSide sphencal Sheld :

Fl;_ p.\u Ppﬂ'\ Gty ’ql
’ LS ﬂmul'l h? fu..{{ ‘ff."l‘qi

M ﬁlﬂal A fq‘p'ﬂf r;l

- indeprdant of Ny, =2 all fores balarce
" Jaside spheicedl shell, Fgme = O

So as we dig ik e, ck radis ~ Pom codes
e need c::-/Lb g %Ef ‘F\fD‘L Ha YiqLis l‘--,.—'it"ﬂifl
-I'"ﬁdih.':r"_ r—-ﬂr whb ? ‘ M{r} =4/’3?{'r3

1_.._'____1
i el
o %mf = G‘N.._l:ii z G—m_ ‘%‘,MLI S R ?-/E?L!'”
r —z
oL

( manErk-ﬂr:j-EG[n}t Lu-ea‘jl«n{' - af =0, %MV-‘*.'?)



e
le&% Mobion: Comder Orbits ¢

e.q. Con - Eorth or  Eorth - satellile Sﬂihﬁﬁ
(M»>m )

ﬁﬁm"ﬁ- (:r"r% s 3 -
Lﬂfﬂ%‘-«fﬁ)
Orbikal Pedidd T = Grumfeore . 2ar go v = 2AC
G'I'Jﬁ“fﬂ.l LF-“C{ \/ .-j—'
Sa G—!:!m R 1 2ar . = G- lﬂ :‘r‘llnf“'"
rt r~ e rt T

(o E.F bl L rerE ) el g !‘jmrj
ety (@2 0390) has T=  (039)" :0:2% 4
Tepe (P53 T G2t Ty
(Toble S-2)





